EARAZROREIERT — 2 N—XBISY —F 2014558268 (B) 4ME%#1H

IR > %2 C6# C6 ¥5%—# ERE R
[A&4] 1 #%:130,00H ~ 2#%&:26,000MH ~ 3#&:13,000H / 4%:0M / 5&:0HM
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
3 3 o4 | FELK 1:43.5 4-3-2-2 | 39.2| — 1 430 | J1IUBBATEE (56H4)
15|65 |77/ F> 56.0 (-) 45) | WR) Tr—xtEVar
L:T7ReA Y L—> B:d-LFoINTr— kel
5 . # 5 | mEIRA 1:44.4 3-4-4-4 | 39.4| — 3 433 | KEFEKX (5H)
N > DI s 54.0 @ ) |
L:77V—h B —FFN [xse]
. > o4 | EEE 1:44.9 2-2-3-3 |40.6| — 2 446 | REERELT (%HR)
3 4 T+ bx— 54.0 (2 1/2) (+1) BEHEH
-t AR B:XauIf243Y BMEAZZY K
5 s o7 | HEEZ 1:45.2 5-5-5-5 |39.8| — 6 500 | /DNFEREESER (S2H4)
4189 HI ) A IN— 56.0 (1 1/2) 1) (#%) 770
RiLF¥aT—4A2N— BEAXHTUFxo R ENCPERIZ ¢

P = i 6 | BlEft 1:45.5 8-8-9-7 |38.7| ~— 5 490 | /I\ARBSBL (S£42)
EE g|F1dT>)aw 56.0 (11/2) (B) I KLFAS2K

L7728 R719 97748 B:iLTF1a%4> [RAiEve ]
olzls |~ ,r%:/ 1y Y ) B4 ﬁi%ﬁﬂﬁl (11:415/.28) 7-66-6 |39.8| — 7 (4+266) E%;E)IE/;E _(%/;\)7,
L7 RYA4¥<y X B:OAXETFTATLX B EvJLy RIT7—L
EH 3| ¥ERHZ— ‘ LA g;‘z’gz (11:416/.21) 1-1-1-1 [ 43.3| — 4 (4_822) /Jé})ﬁ,ﬁi_gf)}v
R:7RvA¥L—> B:EOYYa BH BT
9l8l10 7r_‘41- >,7D‘y77 =z o7 gﬁﬁ%EfiU 1:(416).3 9-9-8-9 | 39.5| — 8 ;1:175) ﬁﬁgﬁgﬁk (3212)
L:Tv IRy b BV /AT KEHS
wx|11|F7UT—IL K % 7 | phES o - - - |- (4413) /Jm\;gg (&42)
L:ZF¥ v 2—HYI-IWK B:2h/ -T2 BEH #3
@ 1 —F—EBIE
1Z=7r= 3,4,2,5,9,7,8,6,10
23=3r= 3,4,5,2,9,8,7,6,10
Ja=5= 3,5,4,2,9,8,7,10,6
41—F— 3,5,4,2,9,8,(6,7),10
0 LRE
B 5 10| [ 71 K 2-5 130M | | # &= 2-5 2701 | | 3&#& 2-4-5 340
# B 5 100 4-5 1704 B = 2-5 280 R3] 5-2-4 780MH
2 130M 2-4 420MH B HE 5-2 340M
4 140M

ABICOVWTRDTEEERROODE. TR LIV,



